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IR & R 3T Instructions to the Candidates

1. mwwmm#mmmaamwmwmm%mwmam
3N I fAAGT F ITER 3RS Aeqdr TG §, A7 I SFAGIRT TWEY dR W T W E e

Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. 3o forme ¥ WA ¥ deel T RA-gReaer vd 3 UH 3R Sea-dfe A RF aw swqeat @ e
¥ ug

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. WRA-UF, 80 WAl & WY WA-GRH F & H §, v [Fawor Fewrad ¥ aur gdw wed 1 3 @
Sad o) Ao §, O9d & Fad v fQeew rdds T B

The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. FEOTE & 3 wF AR 3o e A R v et F IER, 3 UH AR IR M F o qorger H
FArell/Tel TR F afcd s O & el T el 3cal & IdeT ol &1

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5. e g A R v wue W It aver A vE wAE o)

Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
6. Wl & Iock &t & AT e ¥ & 3 oA 3N ofie yera fRar S g

A separate OMR sheet is provided for answering the questions.

FY3./P.T.0.




10,

11.

12.

13.

14.

15.

@Wmmmﬁmm@mmmmammmm@wmm
IIOF FEUET s e iRl S sfaied s AT wew S8 ar S

As the OMR answer sheet is being machirre scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

magﬁ?ma?anﬁmﬁmwgﬁamﬁgﬁammwamwaaﬂaﬂmmwaﬁaﬁm
T T w1 frar s e

Question Booklet Code (A/B/C/DIE) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

e ool 1 3 H §, 3ol o 3 WX AT 3% IR T 3ar & (AU 0.33 HOTeRAT 3w BRI WA
& T & AUF 3ok 1T I AeAl S|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multipte answers for a question will be treated as a wrong answer.

BT S ¥ ST Fopacy, Aage B, T A, §5UE, Hept T, AU e, FAU TS
SET AT TS 3 SAwEE Ao & oUet T Ay A€ g ARy O g o e a3 qleT &
ﬁwﬁaﬁammwmmwaﬁmmmwmﬁm
WmmmwngﬁMawmﬁmmwm#ﬁmﬁa
Tt @ el ¥ e fRar S g

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, aiready published in our
website may strictly be followed.

SeeT U ¥ 39eiey T & 3999 X6 i & T BRI ST wear

Space available in the Question Booklet can be used for rough work.

qieT GETE @ °F, 3 TH AR 3e e A W RY v R Rl § o o AF o o AR 3e
aﬁeﬁﬂwﬁgg&méamwﬁg@%w%mﬁmﬁwwﬁisﬁmmaﬁztmsa‘w
I QAT SXae ATl

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

IR @ e TS @ ¥ 91 Sae TR gl oE B AR E

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
T ¥ o1, SETEARt F 3 U AR 3ok a3V gEamiE waRr O e F dl S afee
By sl & yaw 97 oddes @ a8 i ¥, S 3 v 3R e W Apdiea & O R e

ST ST AR TF e R 3Eeaar F udanE Fr diver A e s g

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

3RS el ERROT ¥ WRA W & YOS A e, greifE seeart dr giawr & fow ol A 8
weer BT 1w &l

The questions in English version aione will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates.
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eI ‘i (Ffe 3l ararset Fif¥®) / TECHNICIAN ‘B’ (REFRIGERATION &
| AIR-CONDITIONING MECHANIC)

-

Pref@a & @ =9 @ asg gies wdes worer & 3udier fee o 9o welaw & Bw

Which one of the following is not a desirable property for a refrigerant used in a Vapour
compression refrigeration system?

(2) 37w [@dRa 8@ 3R 3=w faafa arwse / High critical pressure and high eritical
temperature

() I-Rwea 3t d-sge=reiier / Non-toxic and non-flammable

(c) 3aeTF ardeeT AT ¥ I RHEE & ﬁg ! Freesing point above required
evaporator temperature

@ v v IYUT &did AR TIA W FH @3RST 34 / Low specific volume at given
suction pressure and temperature

w-a@mmwm%mmmm%,@mmm

As the difference between condensing and evaporating temperatures increases, the Net
Refrigeration Effect

(@) ¥l & / Increases

(b) =T &/ Decreases
(¢) T W & / Remains same
(d) YBel Fedl & IR & T UTed AT €/ First increases and attain constant value

gEa-FAR-3NafrT Fr 3ofas gmer & g &
Molecular structure of hydro-fluoro-olefins consists of

(@) e TATBT & T FA T FH UF g IUF F WY FREe, TR 3R S

AT 813 & / Hydrogen, fluorine and carbon atoms with at-least one double bond
between carbon atoms

() @ WAV & @ @l vwe dUA F WY gEge, wlRe 3R eEe gd ¥/

Hydrogen, fluorine and carbon with all single bond between carbon atoms

(c) e, Fara AT FART S £/ Carbon, chlorine and fluorine
(d) BEI, Fara 3R FET 8d & / Hydrogen, chlorine and carbon

3 762-TN(RACM)



T FACUAF T & T I arasdr

For an isotropic material the thermal conductivity is

()
(b)
©
(d)

TFer 3T Bem 9t sl & §/ Dependent on time and direction

araAe 3R fger ¥aad / Independent on temperature and direction
FeAT gega @ &2 9 f3397< / Dependent of the direction of heat transfer
ST JEES @ AT ¥ T &/ Independent of the direction of heat transfer

ﬁﬁh—m%mﬁ%ﬁﬁw%mwm%m%

High value of thermal conductivity for non-metallic solids such as diamonds is attributed to

(a)

o g
CE] Had 5aaraja'i £ squfY #Y / Presence of large free electrons

(b) Brred g ST HI/ Crystalline structure

() F=d T &I / High ductability .

(@) 3euafed T / Amorphous structure

BT FUT Y FFE &

Unit of solid angle is:

(a) T3T / Steradian () 3T/ Radian
(¢) WRISF=/ Proradian (@ 33/ Degree

SCHT

ﬁﬁﬂmﬁmm@saa@mﬁaﬁmﬁqﬁsmﬁﬁmm%

Eiffectiveness of a heat exchanger 18 defined as the ratio of

(2)

(b)

(©

(d)

mﬁwammmmammmm'mm

Actual heat transfer rate for a heat exchanger to the maximum possible heat transfer
rate

mmmm@mmam%ﬁmmmﬂ%mﬁmﬁw

SSHT 37aR0T &< / Actual heat transfer rate of given fluid to heat transfer rate with water
ag exchange fluid
HRHH FAT R & 7ATH FSA 31707 / Maximum heat transfer to minimum heat

transfer

mﬁﬁm%ﬁvwﬁ%mma@mgﬂﬁmmmamam
heat transfer rate for a heat exchanger to the minimum possible heat transfer rate
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10.

11.

12.

fratef@d & d Fl9 o $as G0 T8 §2

Which one of the following statements is not true?

(a) DX Fex # GREL # vos ™R f-T 3= FCHT ddieall &T'EHT gidl & / Flooded chiller have
high heat transfer efficiency comp ared to DX chiller

(b) DX FIeR & f9diq was FeR & gl & ATl & 9% fFar S goar &/ Water tubes
of flooded chiller can be cleaned unlike DX chiller

@ uwIE Rk # @iz &I Warg v = Whele 3R a~diexor gag & & 3ickeT dud /

Intimate contact between the refrigerant and evaporator surface regardless of load exist
in flooded chiller

(d) wes feR H, Ifpec =me, Dxﬁmﬁmﬁmmmg‘/mﬂoodedmﬂl@r

refrigerant charge is very less compared to DX chiller

ST & W7 @ I HARE FoAl @ gl Sl § ————|

Internal energy associated with phase of a system is called
(a) ¥ageAelier Fail/ Sensible energy (b)  3TFT Fol1/ Latent energy

(¢) VEN=® FaT / Chemical energy (d) FE™T FT/ Nuclear energy
fAe=tief@d & ¥ fow gl &), $ F d9EE T gl 30 AT AT §2

Which one of the following material have highest thermal conductivity at room temperature?

(2) TAIAYH / Aluminium () @/ Iron
(¢) @/ Glass (d  =idr/ Silver
s ety fower faftse amaaer feR @ar §, 3% ey oer &
A substance whose specific volume is constant is called

(a) BT/ Rigid (b)  FTEUT/ Inelastic
{c) BWS‘J / Incompressible (d) IR-g="ar/ Non ductile

o

QA adA H WA TR HT T F NN FH g Ao F WA T §
Pressure cooker cooks food much faster than cooking in open vessel by maintaining

(a) €T Uk H 3T gad 3N FF a9as / Higher pressure and lower temperature in

cooking

(b) WET Yl H 3= gad 3R ITT ar9A / Higher pressure and higher temperature in
cooking

() Tl IFT H &F a9 31N 3T gvAe / Lower pressure and higher temperature in
cooking

(d) @ g H A &g 3R FH JOAE §940 @ar &/ Lower pressure and lower
temperature in cooking

5 762-TN(RACM)



13.

14.

15.

16.

17.

m‘rﬁuﬁrﬁ,wﬁwm(wa%)ﬁmmmwmw&COPm
ZSAT 99 & COP & &I &l 3 §-

In ideal case, the difference between COP of heat pump and COP of refrigerator working
under same operating parameters (same cycle) is

(a) 1% s&ER /Equalto 1 (b) 0 & auEL/Equalto0

(¢) 1 & §37 / Greater than 1 () O ¥ FH [ LessthanO

g gaT 1 RS AT ¥

Specific humidity of dry air is

(@ 1 ® 0.1

¢ 0 ' @ 133w %’I Gireater than 1

Wmmmﬁ,mﬁﬂmﬁﬁw$mamﬁaﬁrﬁm$a@maﬁm
i

Ratio of the amount of moisture the air holds relative to the maximum amount of moisture the
air can hold at the same temperature is called

(a) 3Téenm 3TTeT / Humidity ratio ()  goT 3T/ Absolute humidity
(¢) 3Tear / Humidity (@ e AT / Relative humidity

502 Rearde S $ Tag W AR 6 g2l w1 awen $O wwar § fon e & wow @ A
mﬁm%ﬁmﬁﬁamﬁﬁwﬁmg_

The formation of water droplets on the surface of a cold canned drink indicates that the

surface temperature of the can is below one of the following temperature of surrounding air

(a) |Y dod HI AYHRE / Dry bulb temperature

(b) e god HI AA / Wet bulb temperature
(© M-fa'g aTIHT / Dew-point femperature
(&) FHY F JT9H / Moisture temperature

%ﬂﬁﬁ%%@éﬁ%ﬂ@gﬁﬁﬁﬁﬂﬁﬁ,@ﬁﬂmﬁ@%ﬂ@m#
fifise & & fT aeas® Tadd g O P TCA

In a psychrometric chart prepared for constant pressure, number of independent intensive
properties required to completely specify the state of atmospheric air is

(@ 1 b 2
© 3 d 4
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8.

19.

20.

21.

22.

i e searg & v asdeor ofides Ta@ H0F 39T 82
Evaporative coolers are best suited for which one of the following climate?

() ¥ 3 3/ Hotandhumid | () 99 3 A/ Hot and Dry

(¢ 3T 3R 3/ Cold and humid (d) 33T AR Y/ Cold and dry
frmfafea # @ &7 a1 wer 39 RuRge & ged w7 § gafeyd gt & fov
el A H Fid=Scd HT 52

Which one of the following options represent the correct order for fluids arranged in the
decreasing order of their viscosity?

(a) TPorElsT > SAE 30 d« > 9= > g4l / Glycerin > SAE 30 oil > Water > Air
(b) Y > FAAdsT > SAE 30 dd > gar/ Water > Glycerin > SAE 30 oil > Air
() SAE 30 dd > Fa@l= > 9= > ga1/ SAE 30 oil > Glycer1n>Water>A1r
(@) &ar > FeaaieT > 9=t > SAE 30 ’3?-TlA1r>G1ycerm>Water>SAE300ﬂ

TR & IH & AN, T § W 57 F TR goaaw 7w & SO | S off o Ry
R

According to Pascal’s law, any two points at the same elevation in a continuous mass of the
same static fluid will be at

(a) U &I AUART 9/ Same temperature
(b) FEI-FHT dIATH X/ Different temperature
() U g ga/F T/ Same pressure

(d) 3IeIE-FedT a9 W / Different pressure

o faffesr sam r wrsdl @ e F Ser o g, O Setatad & F o ar s gg@r §2

When pipes of different diameters are connected in series, which one of the following
statements is correct?

(2) TP wsdl # yag & FAT-379 gl &/ Flow rate is different in different pipes
(b) T qIgUl F UaE & AT g1 &/ Flow rate is same in all pipes

(© YOIl & AETH ¥ R A JRA GAE UET F R F JEE F 3c0G B
BT & / Head loss through the system equals product of head loss in each pipe

(d) wsfr Ul & @Y @ AT HATT glal & / Head loss is same in all pipes

HrTofaa # 8 g wias yomelr & 3raRse Foar @ worndy o ¥ 392ier T 57 Aar 22

Waste heat can be effectively used in which one of the following refrigeration system?
(a) arsT FdigeT WUTSll / Vapour compression system

(b) T A TUTEAT / Air refrigeration system
(¢) aTST HGAWUT YOTTell / Vapour absorption system
(d) HaT Rirae= womel / Vortex refrigeration system

7 762-TN(RACM)



23.

24.

25.

26.

27.

28.

Ryt (Freon) 3menia weiider womell & @@ &7 Iar T 3GAWT & AT S
T Bl
The leakage in a Freon based refriferation system can be detected by using

(a) JFHCRRRE 29/ Oxyacetylene torch

(b) EeEs </ Halide torch

(c) TP 2 / Sulphur torch

(d) & Toesy 99¥/ Blue litmus paper

Ifreiie @99 #, ofr genfT & aTgEET Sgar §, o SieR F R @ Haw

In a refrigerant plant, if the condenser temperature increases, the power input to the
compressor will

(a) §I/ Increase
(b) @ R/ Decrease
(¢) AT W/ Remain the same

g

(@) WG FH AFA TF FA 21911 / Decrease to very low value

G ¥ & 3E0EE 10,20, 2Q TR F 93 §U 1 TAGed Wk T 87

Three resistors of resistance 1 Q, 2 Q, 2 € are connected in parallel. What is the equivalent
resistance? ‘

(@) 5Q ® 3Q
0 1Q (d 05Q

18 kV ¥ dletsr garT 6 kQ W 3 Recen g wate 3T e 62

How much current is produced by a voltage of 18 kV across a 6 kQ resistance?

(a) 2A () 2kA
© 3A @ 38kA
mwwgmmﬁmﬁmmm%

An ammeter is an instrument used to measure

(2) URUY & g7/ Currentin acircuit  (b) qfyqer & dieesl / Voltage in a circuit
(c) Tostelr &1 @9d / Power consumed @ ulmy # 9f3Trer / Resistance in a circuit

BT HAM &, e F IUHIOT B HG TAR A Y WA §
In milling machine, the cutting tool is held in position by

(a) @& / Chuck (b) T®uzer/ Spindle
(©) 3T/ Arbor (@ T e8I/ Tool holder

8 762-TN(RACM)



29.

30.

3L

32.

33.

re 3T @ e Aecd W@ G & @ear 82

By which operation does the sheet metal cut straight in length?

(a) TET F1AT/ Notching . (b) I g3mm / Embossing
(c) TR/ Perforating (dy dRET/ Slitting

mq&ﬁmmﬁmﬁﬁma@mmammmmwﬁamm%

When the discharge pressure is too high in refrigeration system, high pressure control is
installed to

() NTeeT 9& FI UF=l & ToT / Stop the cooling fan

() IRTIRT T 9T H Ushed & foIT/ Stop the circulating water pump

(¢) et ST & vag A AT Fe & TIT/ To regulate the flow of cooling water
(d) FUAT FF AFA & T/ Stop the compressor

FRAT T WA S § S 9T e d

Wrinkling is a common defect found in

(a) HIS ucH H / Bend components

(b) 8L Wi A0 HeR H !Deép drawn components
(© 3IW gv HeH 7 / Embossed components

(d) @rell geehl & / Blanked component

AT 7 @ #la @ vw o7 [T 7 A Fr vl 82

Which one of the following is a solid state joining process?
() 9T TET '&E_HTQT afeseT / Gas tungsten arc welding
() IBEH Fic 3feseT / Resistance spot welding

(¢) =¥or afese / Friction welding

(d) TEHoS gaTer 489/ Submerged arc welding

fast v FEree A, AR W FI=RT R S aren faweReT Iueor §
In the window Air conditioner, commonly used expansion device is

(a) TAT ATHHT/ Capillary tube

) FHT @EIOT 969 / Thermostatic expansion valve

() TF=fard f4eaior areg / Automatic expansion valve

(d) wdie gred / Float valve

9 762-TN(RACM)
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34.

35.

36.

37.

38.

I o8 HawiE, Hara aRael ay el & agd ————
Wet bulb depression, under saturated ambient air conditions
(a) BHAT GFRIcHSD grar &/1s al:vays positive

(b) THIT TRRIHH grar £/ Is always negative

(e gHaT N2l gar &/ Is always zero

@ 3 RNg & aoEE F IR W 8 el £ ¥&ar & / May have a value depending on
the dew point temperature

gaT B qEE Rerder giEHr & SR ——————
During chemical dehumidification process of air

(a) H‘:Q goF & agAe 3R AR 3 s g S %/ﬁry bulb temperature and specific

humidity decreases
(b) E:@' Sod &7 dI9H §9¢ Sl & 3R JferSe AT HH & AT % / Dry bulb temperature
inereases and specific humidity decreases

(©) T{!ﬂ Fod & IIHE FH & FaT § IR AR AT 9¢ AT § / Dry bulb temperature
decreases and specific humidity increases

(d) H;@f o8 & diuHae AR AR JEAT §€ il § / Dry bulb temperature and specific
humidity increases :

35°Cq¢aﬁgaT3ﬂt100%3Hq¢wwwﬁqa‘armr€r%3ﬂtzs°caﬂw100%RHq¢
RHhel W &1 37 IUHIT H A & ' :

Moist air at 35°C and 100% RH is entering a device and leaving at 25°C and 100% RH.
The name of device is

(a) TIMARBERR / Humidifier () RegfafswrR / Dehumidifier
(¢) Ufager §icT/ Sensible heater (@) dfge e/ Sensible cooler
afSfer wfn & Riaeh g8 g ——— % RO @l §

Molten metal in brazing process flows due to

(2) AT foar/ Capillary action (b) TafAUEE/ Viscosity

(¢ [BFT@es A1 / Avalanche motion () T JIT / Surface tension

R-410 A Yfreiie & H0aT ——— TG FEaT g &l

R-410 A refrigerant has a near azeotrope composition of

(a) R32 3T R22/R32 and R22 @) R125 3R R22/R125 and R22
(¢ R32 3T R125/R32 and R125 () R323R134a/R32and R134a

10 762-TN(RACM)



39.

40.

41.

42.

43.

I SEHFAES T Telldel ATHT &THaT (GWP) &
Global Warming Potential (GWP) of Carbon dioxide is

(@) 100 ® 10
© 0 @ 1

UBSET & aTsdIFIoT Fusell T 6 §efet U SOAT Fareel

With the formation of frost on the evaporator coil of refrigerator, the heat transfer
(a) & & FIGT &/ Decreases

(b) ¥&dr £ / Increases

(¢) HA War & / Remains same

(@ Fear gk v e &l ST &/ Increases and the;l decreases”

U REIRE 98 H, I Al S Anr g s ¥ ar Fuww & e gear

In a reciprocating compressor, if the clearance volume increases the volumetric efficiency of
the compressor

(a) HAW FWdT &/ Remains same
(b) Faar &/ Increases
(¢) "edr §/Decreases

(d) gl 7T ST THAT / Cannot predict

araelger & &7 7 ISEER 97 #aYr §
In the field of Air conditioning, ISEER refers to

(@) AT Falr gaTdr 34?:@%11?{ WS / Indian Society of Energy Efficiency Research

(b) HROT HGHT FST gaTar Hﬂﬂﬂﬁ / Indian Seasonal Energy Efficiency Research

(¢) HIRART 3UHIOT &7l 31?3‘3?‘?-113' WA / Indian Society of Equipment Efficiency Research
(@) S \HEA F9T garar 3UTeT / Indian Seasonal Energy Efficiency Ratio

aIFRAT Tl 37 ag el 6 3Rt & AT TGO aT T BT HET BROVFROT §

The main reason/reasons in providing insulation for supply air duct in Air-conditioning system
is

(a) el & &OT ¥ §9=1T/ To avoid corrosion of duct

(b) ded AR @ & fAT/ For aesthetics and appearance

(¢ FSAT Alcel B &H HIAT AR WIS T gar & HOeF § 94T / To reduce heat
transfer and avoid condensation of surrounding air

(d) FSAT JFAEHAT &l Fglall T W H FH ST/ To increase heat transfer and reduce noise

11 762-TN(RACM)



44,

45.

46.

47.

48.

49.

50.

TETE FA & IEAET 7 HEPA ey &7 51 §
In Clean room applications HEPA filter stands for
(a) High BEfficiency Particulate Air filter

(b) High Energy Particulate Air filter

(¢) High Efficiency Porous Air filter

(d) High Energy Porous Air filter

AR Tl JeyaeE & v e uig Jfad SUR &« 8ld §

Sheet metal ducts for normal air conditioning applications are mostly made of

(a) #g Tl ¥/ Mild steel (b) gedl Al & / Cast iron

(¢) dEr ¥/ Silver (@ . dcaTgss Tl ¥/ Galvanized steel

&

7f 3 YT U qEY & sigad ¥, o AN GeT S IR §
If two lines are perpendicular to each other, then the product of their slopes is

(@ O b 1

© -1 @ 2

sireifanfteer welgor #, T SHRT A B T B @ arer T2F §

In orthographic projection, the view showing the floor plan of a building is a

(a) @S 3R & E’%ﬁ/ Left-side view (b) Hﬂﬁm %‘%ﬁ/ Sectional view
(¢) |IFST & T/ Front view (d) FWR & T/ Top view
AT TYHASAT Gad

The standard atmospheric pressure is:

(2) 101.3 Pa ()  101.3 bar

(¢) 760Pa (d) 101.3kPa

FSHT 3TRUT qUTh T S §

Unit of heat transfer coefficient is

(a) WimEK) ® Wm
(¢ W/(m2K) (d) W.K/m
N}

Tig T E

% equals
(a) 372 b 23
(c) 4/9 (@ 94

12 762-TN(RACM)



51.

52.

53.

54.

55.

56.

dietel —— o B ag §

Brass is an alloy of

(o) diaT 3 TegAIEH / Copper and Aluminium
) &= 3R U&Eﬁfﬁﬂ‘ﬂ/ Zinc and Aluminium
(¢) diar 31T SEar/ Copper and Zinc

(@ =Er 3R TegHIH / Silver and Aluminium

1000 L &% STl ol oAl TRl @efcd 1000 kg/m® §

Mass of 1000 L of pure water which is having density 1000 kg/m? is
(@) lkg (b) 10kg

(¢ 100kg (@) 100(.) kg

g

%ﬁﬁ&mmnwﬁﬁﬁﬁo{d FT AT B

Volume of a cylinder having radius i and height = is
¥A

(@ 1 ® =
© = | @ =

i
YEY YsH gaT, 273K ATIHART 3T 101.325 kPa & gald W ————— HEAT GliT §
Pure dry air, at a temperature of 273K and a pressure of 101.325 kPa has a density of
(a) 1.293 kgm-3 (b) 12.93 kgm-3
(¢) 1293 kgm~3 (dy 129.3 kgm-3

afa 3R o7 F aR F F=fefla & @ sia or Fu= @@ g2
Which one of the following statement regarding speed and velocity is correct?
(2) 17T 3R Je1 AT WA ARV 8/ Both speed and velocity are vector quantities

(b) T vF FEY FAET § AR A9 v HfEYU AT ¥/ Speed is a vector quantity and velocity
is a scalar quantity

(¢) arfa wes 3yfeer &nm § 3 397 ue wfewr A £/ Speed is a scalar quantity and velocity
is a vector quantity

(@ =ifF 30 391 St 31fger AW &/ Both speed and velocity are scalar quantities

T Aeae o afd R uell # 15 kmph ®eT 8, 80 km w1 & 3R Sl § 3R FA
4 9¢ 30 Tise F QW 3T S &1 91T i HeiRa &

A motorboat whose speed in still water 18 15 kmph goes 30 km downstream and comes back in
a total 4 hours 30 minutes. Determine the speed of the stream.

(a) 2kmph b 3 kmph
() 4 kmph (d) 5kmph
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57.

58.

09.

60.

61.

62.

uﬁqaa$aﬁmmw,Mamﬁﬁ§a$mw$w%,ﬁﬁﬂaﬁiﬂé%

If the area of square with side a is equal to the area of a triangle with base a, then the altitude
of the triangle is -

(a) al2 by a
(€ Za d 4o

amwé@raﬁémmmw%mwaﬂm@mszsélaﬁmnﬁm
UETEA AT T

The difference between two positive numbers is 10 and the ratio between them is 5:3. Find the
product of the two numbers.

(@ 375 by 175
{c) 275 & . 125

soa?m@aﬁtmﬁrasﬁmﬁ, 25%ﬁmagrﬁmﬁlrfﬁwﬁmmqﬁ-ﬁﬁwm
afyw s oy AT @1 20% T ST

In a mixture of 80 litres of milk and water, 26% of the mixture is milk. How much water
should be added to the mixture s0 that milk becomes 20% of the mixture?

() 35eeY/ 35 litres - ' (b) 20T/ 20 litres
(¢ 15 ieX/ 15 litres @ sIHY 1S A& / None of these

aaﬂﬁﬁwmmaﬁwm$ﬁﬁﬁamﬁﬁﬁwmmm
U7 ST & e F Tl S ©

The ratio of the frictional force resisting the motion of two surfaces in contact to the
normal force pressing the two surfaces together is called

() o¥uT §67 / Force of friction (b) 90T SI0T / Angle of friction

() @Y =T/ Normal friction «(d) =dor i / Coefficient of friction
S b ¥ cTRe SRR Y T TecarReT B0 AP RE

Centre of gravity of right circular cone of height h is at a distance of

(a) M & h/4/ h/4 from the base () o & h/4 | h/4 from the apex

(@ R ¥ h/2 / /2 from the base (@  3TYR ¥ h/3/ ki3 from the base

maﬁ%ﬁ@wm%wmwwmm%

The slope of linear part of stress-strain curve for a material under tension gives
(a) qiedsT H FHegdicd { Poisson’s ratio G fRR AU / Shear modulus

(€) T & AT / Young's modulus (@) deird ?_gﬂ'ﬁﬁf Coefficient of stress
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63.

64.

65.

66.

67.

TATEOT GLETOT TSR Fell-TelR-areet Ifhaiie & 3uaier & s gow & § wifr &

Environmental protection agencies advice against the use of Chloro-Fluoro-Carbon
refrigerants because they react with

(a) o a™T & @ yfafrar = § IR AT a9 & FROT 9= ¥/ Water vapour and

cause acid rain

®) 9 ¥ ufaflear s § 3 9=y vae & wRor 9 § / Plants and cause

greenhouse effect
() e ¥ ufafrar ey § 3R sEdr s o FRer a9 & / Oxygen and cause its
depletion

@ N Ra T viafwar S § 3R s Sl &1 ST 999 £/ Ozone layer and cause

its depletion

ﬁmﬁf@aﬁ#ﬁammmwﬁsﬂmﬁaﬂwﬁgﬁﬁ

Which one of the following expansion process takes place.in a vapour compression
refrigeration cycle?

(a) AR H YRadd F WY Uleleiie Yihar / Polytropic process with change in

temperature

(b) I FEIACHOT & WY UEAARS wferar / Adiabatic process with work transfer
© Tedr & qRaas & @/ 3SEI % ulshan / Isentropic process with change in enthalpy
(@) RO el & Ty vfzamfes wirar/ Adiabatic process with constant enthalpy

Ul JOTell &7 U H3AE 200 kW 67 e @ FSAT H IRAFR FLaT §, Safe qome &
FAET 40 kW Fr afga v wad sar & wormely &1 COP ghm

A condenser of a refrigeration system rejects heat at a rate of 200 kW, while the compressor of
the system consumes a power of 40 kW. COP of the system will be

(@ 5 b)) 4
(¢ 3 (@ 15

Ifg 7S woell F IS Uie A # & 3 & ar gdEs & v Reel & By @
T gIem?

What will happen to the power input to the compressor if the evaporator temperature of a
refrigeration system is decreased?

- (a) AR W / Remain same (b) =& / Decrease

(c) «&IM /Increase (@) FIWFT H A B JeT / None of the above
AR TFadeeT aTed &I §adr Tod T gier ¥

The sensing bulb of thermostatic expansion valve is located at the

(a) arsfi&ToTEd & HHE W/ Exit of the evaporator

(b) OTSUIHIUTEH F wALT &ar 9T / Inlet of the evaporator
() HaAEL & A @dR 9¥ / Exit of the condenser
(d) HEAW F ydr AR WY / Inlet of the condenser
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68.

69.

70.

71.

72.

e & o fawe JR A o A, gats all gardid §

In the cooling load calculation for air-conditioning, infiltrated air is a source of
(a) HIEANT SR FT/ Sensible load

(b) 3egFd WX AT / Latent load

(c) TdesTde 3R eada A F/ Sensible and latent load

(d) @ AEI / None

T WEHARS dIE 0T, Feey A g TG YW SIS ————— 3(T EeH &
On a psychrometric chart, constant wet bulb temperature lines nearly coincide with
(a) X RH YW@V / Constant RH lines

b) R vdedr =V / Constant enthalpy lines v

() TER 3mgcer X@I¢ / Constant volume lines

(@ =T e Fod ATTHA X@T¢ / Constant dry bulb temperature lines

Taearelie arad & 2R R e 1 #2867

What happens to specific humidity during sensible heating?

(a) Uge dgdr 5 3 fRT gear &/ First increases and then decreases
(b) ®CT ¢ / Decreases

(¢) ®adl ¥/ Increases

(d) T W@ % / Remains constant

WWQ@W%WﬁWﬁaﬁ%ﬁmmﬁﬁ

Water as an inorganic refrigerant is designated as

(a) R718 ®  R503
(c) 1290 (dy R717

R & 4 i W o At B [ 78 57
Which one of the following is not an Air Conditioning duct design method?

(a) & FA F P A / Velocity reduction method
(b) YHAE g¥ur 4/ Equal friction method

() & hGE gifeT 81 / Static regain method '

(@) o7 Ued &/ Frictionless method
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73.

4.

75.

76.

ST Pigel & et agury uewk & fov, dal & gff 3 oyg dfFaat € dwar s g

For low bypass factor of cooling coil, the fin spacing and number of tube rows will be
respectively n

(a) 3= 3R 3% /High and high

() 3= 3R &% / High and low

(¢) o= 3% 3=/ Low and high
(@) T 3R ==/ Low and low

TH HRTCE FEl A I FOHT HR FAEAM IO AR FT 25% @I &l ARwer fic theex
(SHF) a&eT & ‘

.ot

The latent heat load in an office room is 25% of sensible heat load. The value of Sensible Heat
Factor (SHF) is equal to

(& 0.5 b 10
© 08 d 0.2

AT FUSA T YA FAGT AOATA, S Fosell ¥ Twermr arelr gar v amqfd & Rufy =
il #var §, 39

The effective surface temperature of the cooling coil which determines the condition of supply
air coming out of the coil is termed as

(2) 39T0T A fog #gd §/ Apparatus dew point
() FuErer g ﬁg FEd & / Apparatus cool point
(¢) Mol AT Feer & / Chilling temperature

(@) 3% f8g a9HRT 8T ST §/ Dew point temperature

9 F 33T T v gl FeT F Hieler ey @ A 3T
The common use of cooling tower in a water cooled Refrigeration plant is
(a) TWEH dd T I g & T/ to remove heat from lubricating oil

(b) FIET & IHAT g F AT/ to remove heat from compressor
(c) F3AEY ¥ Tiversy arel 9y I & 9HT gerr & TOIU /7 to remove heat from hot water

coming out of condenser

() adEReT 4 F R aror 3 aEl F 79 e & Ow T S £/ 10 add heat to

cold water coming out of evaporator
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77.

78.

79.

80.

ﬁmﬁ@aﬁ@%%wmﬁwﬁﬁhwmﬁ%wmﬁ%mqﬁm%ﬁ
frar ST 82

Which one of the following gas is generally used for pressure testing of refrigerant pipe lines?

(2) 3O/ Oxygen (b)y SISl / Nitrogen
(c) &g&eT/Butane (@) FHARAAT/ Ammonia

70 km/h & TR 397 ¥ o @l R O FE FR aTT YEY & F1 § () 0 FHGA 65H
W () T o FBH W2

What is the net force acting on a car cruising at a constant velocity of 70 km/h (i) on a level
road (ii) on an uphill road?

(a) TO0N )

(b) HE & fOU =0 () A I JoleT F @ ! Greater for case (ii) compared to case (i)
(c) HHA & fIT g87 (i) A HI etell #H (i) / Greater for case (i) compared fo case (i1)
(d ON

e T giear & uftar § foas ERe

Isochoric process is a process during which

(a) T 3Ta+ 22T {@aT &/ the specific volume remains constant

(b) GTHET AT (@l §/ the temperature remains constant -

) faRrse s IS &0 § dgadr ¢/ the specific volume varies linearly
(d) Earg f&IT T|aT §/ the pressure remains constant

97 59T F U Mo TS ¥ AAs ¥ wikd fRAT e § e 59 891 3R et fam
ST &1 5§ ufear ¥ et gar @ R andar it e snar HU deer 872

Moist air is passed through a cooling section where it is cooled and dehumidified. How do the
specific humidity and the relative humidity of air change during this process?

() Fafe adar 3T grder 3mgar AW @ e grdr &/ Both specific humidity and relative

humidity increases

®) Tafdre méar 3T |meT IEar el 7 ST e ¥ / Both specific humidity and relative

humidity decreases

(© ffRe 3Ear 7§ Fi el afFa ade AEAr # FEf el / Specific humidity will

decrease but relative humidity will increase

@ Rfrse wéar # ey e afF wmer amgar # HAT AT / Specific humidity will

increase but relative humidity will decrease
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